

160.32%

\$311,431.01

				Vendor I	Ranking				Page 1 of 1
Lett	ing:	01191205	December 05, 2019 11:00 AM	Call Order	: 004		Contract:	E1T23-R0	
Con	rict: tract Time: tract Desc:	District 1 365 AVAILA Shoulder Re		Counties:	DIST/S ⁻ HIGHLA	,	Fed Aid No Project(s):	: N/A 43272617246	(*)
Ran	k	,	Vendor	Bic	і Туре	Bid Status	1	Fotal Bid	Percent Of Low Bid
1	MOVING E	ARTH INC.		Res	ponsive	Winning bid		\$194,250.00	100.00%
2		N DESIGN EN CTION INC.	GINEERING	Res	ponsive	Non-Winning Bid		\$197,525.00	101.69%
3	MIDWEST	ERN CONSTR	RUCTION, INC	Res	ponsive	Non-Winning Bid		\$223,250.00	114.93%
4	PROFESS	IONAL SERVI	CES GROUP, LLC	Res	ponsive	Non-Winning Bid		\$234,550.00	120.75%
5	ENVIRON	MENTAL LANI	D DEVELOPMENT	Res	ponsive	Non-Winning Bid		\$235,750.00	121.36%
6	COBB SITI	E DEVELOPM	ENT, INC	Res	ponsive	Non-Winning Bid		\$298,754.71	153.80%

7 ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

Responsive Non-Winning Bid



12/05/2019

Tabulation of Bids

Page 1 of 7

Letting:	01191205	December 05, 2019	Call Order:	004	Contract:	E1T23-R0
District:	District 1		Counties:	DIST/ST-WIDE,	Fed Aid No	b: N/A
Contract Time:	365 AVAILAI	BLE DAYS		HIGHLANDS	Project(s):	43272617246 (*)

Contract Descr: Shoulder Repair with Sod

The work under this contract consists of Shoulder Repair with Sod.

	Line No / Item ID Alternate Item Description		Quantity (1) MOVING EARTH INC.		(2) AMERICA ENGINE	ERING	(3) MIDWESTERN CONSTRUCTION, INC		
	dicates item is bid	as Lump Sum	U	Unit Price	Ext Amount	CONSTRUC Unit Price	CTION INC. Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	SODDING (SY)						
0005 EMBAN	0120 6 NKMENT		100.000 CY	10.00000	1,000.00	10.00000	1,000.00	15.00000	1,500.00
0010 FERTIL	E570 5 IZER		1.000 TN	1,500.00000	1,500.00	1,400.00000	1,400.00	3,000.00000	3,000.00
0015 WATEF	E570 9 1 R FOR GRASS 8	& PLANTS	500.000 MG	2.00000	1,000.00	4.00000	2,000.00	25.00000	12,500.00
0020 SODDI	E575 1 NG		45,000.000 SY	2.40000	108,000.00	2.80000	126,000.00	2.20000	99,000.00
0025 SHOUL	E577 70 .DER REWORK		35,000.000 SY	1.35000	47,250.00	1.00000	35,000.00	1.65000	57,750.00
0030 REWO REPAII	E577 70 1 RKING SHOULD RS)	DERS (SPOT	2,500.000 SY	1.80000	4,500.00	1.25000	3,125.00	1.80000	4,500.00
0035 REWO	E577 70 2 RKING UTILITY	STRIPS	5,000.000 SY	2.00000	10,000.00	2.05000	10,250.00	6.00000	30,000.00



Page 2 of 7

Letting:	: 0 [.]	1191205	December 05, 2	2019 Ca l	l Order: 004		Contract:	E1T23-R0	
	No / Item ID Description	Alternat	e Quantity Units	(1) MOVING	EARTH INC.	(2) AMERICA ENGINE	ERING	· · /	VESTERN JCTION, INC
	-	d as Lump Sum		Unit Price	Ext Amount	CONSTRUC Unit Price	TION INC. Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	SODDING (SY)						
BLADING	E577 71 9 PAVED SHO 9 PAVEMENT	OULDER, UP	15,000.000 TO 24" LF	1.40000	21,000.00	1.25000	18,750.00	1.00000	15,000.00
	0001 SO	DDING (SY) S	Section Totals:		\$194,250.00		\$197,525.00		\$223,250.00
		Contract G	rand Totals:		\$194,250.00		\$197,525.00		223,250.00



Page 3 of 7

Letting: 01191205	December 05,	2019 Ca l	I Order: 004		Contract:	E1T23-R0	
Line No / Item ID Alternate	e Quantity Units	(4) PROFESSION GROUF		(5) ENVIRONM DEVELO		(6) COB DEVELOPI	
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	SODDING (SY)						
0005 0120 6 EMBANKMENT	100.000 CY	55.00000	5,500.00	22.00000	2,200.00	66.74000	6,674.00
0010 E570 5 FERTILIZER	1.000 TN	2,900.00000	2,900.00	1,050.00000	1,050.00	1,560.71000	1,560.71
0015 E570 9 1 WATER FOR GRASS & PLANTS	500.000 MG	4.00000	2,000.00	29.00000	14,500.00	47.99000	23,995.00
0020 E575 1 SODDING	45,000.000 SY	2.82000	126,900.00	2.90000	130,500.00	2.68000	120,600.00
0025 E577 70 SHOULDER REWORK	35,000.000 SY	1.40000	49,000.00	1.75000	61,250.00	2.59000	90,650.00
0030 E577 70 1 REWORKING SHOULDERS (SPOT REPAIRS)	2,500.000 SY	2.00000	5,000.00	2.50000	6,250.00	5.01000	12,525.00
0035 E577 70 2 REWORKING UTILITY STRIPS	5,000.000 SY	2.65000	13,250.00	2.50000	12,500.00	5.43000	27,150.00
0040 E577 71 BLADING PAVED SHOULDER, UP T BEYOND PAVEMENT	15,000.000 ГО 24" LF	2.00000	30,000.00	0.50000	7,500.00	1.04000	15,600.00
0001 SODDING (SY) S	ection Totals:		\$234,550.00		\$235,750.00		\$298,754.71



Page 4 of 7

Letting:	01191205	December 05,	2019 C a	all Order: 004		Contract:	E1T23-R0	
Line No / Item Item Descripti		te Quantity Units		DNAL SERVICES JP, LLC	· · /	MENTAL LAND OPMENT	• •	OBB SITE PMENT, INC
() indicates item	() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
Contract Grand Totals:				\$234,550.00		\$235,750.00		298,754.71



Page 5 of 7

Letting: 01191205	December 05, 2	2019 Call	Order: 004		Contract:	E1T23-R0	
Line No / Item ID Alternate Item Description	e Quantity Units	(7) ROGAR MAN CONSULTING (OF FLORIDA				
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	SODDING (SY)						
0005 0120 6 EMBANKMENT	100.000 CY	0.01000	1.00				
0010 E570 5 FERTILIZER	1.000 TN	0.01000	0.01				
0015 E570 9 1 WATER FOR GRASS & PLANTS	500.000 MG	0.01000	5.00				
0020 E575 1 SODDING	45,000.000 SY	2.29000	103,050.00				
0025 E577 70 SHOULDER REWORK	35,000.000 SY	4.61000	161,350.00				
0030 E577 70 1 REWORKING SHOULDERS (SPOT REPAIRS)	2,500.000 SY	4.61000	11,525.00				
0035 E577 70 2 REWORKING UTILITY STRIPS	5,000.000 SY	4.61000	23,050.00				
0040 E577 71 BLADING PAVED SHOULDER, UP T BEYOND PAVEMENT	15,000.000 O 24" LF	0.83000	12,450.00				
0001 SODDING (SY) S	ection Totals:		\$311,431.01				



Page 6 of 7

Letting:	01191205	December 05,	2019 C	all Order: (004		Contract:	E1T23-R0	
Line No / Item ID Alternate Item Description		te Quantity Units	(7) ROGAR M CONSULTIN						
•	() indicates item is bid as Lump Sum		L Unit Price	LC Ext Amou	unt	Unit Price	Ext Amount	Unit Price	Ext Amount
Contract Grand Totals:				\$311,43	31.01				



			Tabulation of Bids			Page 7 of 7
Letting:	01191205	December 05, 2019	Call Order: 004	Contract:	E1T23-R0	
		120.57(3), Florid	o file a protest within the time pre da Statutes, or failure to post the within the time allowed for filing a	bond or other security		

a waiver of proceedings under chapter 120, Florida Statutes.